NMapma
b-1213 / b-14139 /
b-1613 / b-1813 /
b-2013

COopoyHble eauHULbl U aeTanu




BeToHocmecuTenu anekTpuyeckme

NMapma
b-1213 / b-1413 /
b-1613 / b-1813 /
b-2019

CMNUCOK OETANEMN

] HAUMEHOBAHUE | Kon-Bo Ne HAUMEHOBAHUE | KOn-BO
15 KpoHLTenH kpennenus 1 34 MogwwnHmk 80305 2
MOTOpPHOro brnoka [OCT 7242-81
16 | MNnuTa MmoTopHOro 6roka 1 35 | Ban onopbl 6aka 1
17 | XomyT 2 36 | Lanba koneca 4
18 | WknB 1 37 | WnnuHT 2
19 | PemeHb 1 38 |MpyxuHa 1
20 |KpoHwTernH apuratens 1 39 | LWaii6a tam 1
21 | OnekTpogsuratenb 1 Bont M8x60
22 | Kowyx 1 40 | rocT 15589-70 8
| 23 | Bbikntoyatenb 1 41 LLlan6a nnockas C.8.37 31
Ne HAUMEHOBAHUE KOon-BO _
24 | dukcarop 1 [OCT 11371-78
1 | BepxHsis nonosuHa 6aka 1 25 | LWyp NMBC-BM 2x0.75 0,8 M. 1 4o |Favika M8-6H.04 16
> |Nonatka 5 [OCT 15521-70
MogwmnnHuk 80102 .
3 | HmxHsas nonoBuHa 6aka 1 26 [OCT 7242-81 2 43 |lllaiba 811 FOCT 6402-70 19
Bont M8x25
4 |BeHey 1 27 Btynka noglmnHmkoB Bana 1 44 FOCT 15589-70 14
5 |LWrypsan 1 LLEeCTEPHU
45 |arka M8 DIN 985 12
28 | Ban wectepHu 1
6 | Anck-coukcatop 1 2 p BonT M8x20
L
7 | Ouck-onopa BepxHuin 1 < ecTephA 46 [OCT 15589-70 9
- onbLOo CTONopHoe z N
8 ,D,VICK-OI'IOpa HUXKHUN 1 30 Hapy>KHoe A15.50XTA 3 47 | lanba 651 TOCT 6402-70 8
9 | Kopombicro 1 rOCT 6958-78 48 EEE;QM%(ZO rocr 8
10 | Meaans dukcaumm Haknoxa 1 KoribLo cTonopHoe - -
6apabana 31 | BHyTpeHHee A32.50XTA 4 49 BuHT camoHapesHom 6
[OCT 13943-86 3,5x9,5 ISO 7049
11 | Onopa 1 = M12x30
LLlan6a onopebl onT X
12 | Onopa konecHas 1 32 DEryNMPOBONHAS 3 50 FOCT 15589-70 1
Lo depcce 2 33 LLlan6a npuxmmHas 1 51 LLlan6a 1211 1
14 |Pama 1 yBenuyeHHast FOCT 6402-70




